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R=350 m
V=80 km/h; D=129 mm; I=86 mm

α=66,645028° Li=330,152 m
n=7,40·V Lk=Ld=76,395 m kub.parabola

R=345 m
V=80 km/h; D=130 mm; I=89 mm

α=77,618298° Li=389,308 m

n=7,60·V Lk=Ld=79,000 m kub.parabola

R=480 m

V=80 km/h; D=94 mm; I=63 mm

α=22,900936° Li=120,829 m

n=9,44·V Lk=Ld=71,000 m kub.parabola

R=500 mV=80 km/h; D=90 mm; I=61 mm
α=44,466921° Li=320,026 m

n=9,44·V Lk=Ld=68,000 m kub.parabola

R=360 m
V=80 km/h; D=125 mm; I=85 mm

α=21,800847° Li=61,925 m

n=7,50·V Lk=Ld=75,000 m kub.parabola

R=645 m
V=80 km/h; D=56 mm; I=62 mm

α=21,493820° Li=197,961 m

n=9,82·V Lk=Ld=44,000 m kub.parabola

R=378 m
V=80 km/h; D=104 mm; I=96 mm

α=31,230806° Li=136,001 m

n=8,41·V Lk=Ld=70,000 m kub.parabola

R=331 m

V=75 km/h; D=118 mm; I=83 mm

α=37,065985° Li=145,714 m

n=7,68·V Lk=Ld=68,000 m kub.parabola

R=295 mV=75 km/h; D=133 mm; I=93 mmα=78,392010° Li=326,768 mn=7,77·V Lk=Ld=77,529 m kub.parabola
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V=90 km/h; D=51 mm; I=73 mm
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R=398 m

V=75 km/h; D=92 mm; I=
74 mm

α=63,096178° Li
=382,238 m

n=11,79·V Lk=Ld=46,000 m mezilehlá kub.parabola

R=315 m
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n=9,59·V Lk=Ld=88,446 m kub.parabola
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n=8,64·V Lk=Ld=81,000 m kub.parabola

n=8,13·V Lk=Ld=82,000 m kub.parabola

n=8,89·V Lk=Ld=84,000 m kub.parabola

n=9,59·V Lk=Ld=102,000 m kub.parabola

n=10,53·V Lk=Ld=32,000 m kub.parabola

n=7,89·V Lk=Ld=60,000 m kub.parabola

n=7,59·V Lk=Ld=68,000 m kub.parabola

n=7,66·V Lk=Ld=91,948 m kub.parabola

n=9,15·V Lk=Ld=42,000 m kub.parabola

n=7,62·V Lk=Ld=76,000 m kub.parabola

n=7,77·V Lk=Ld=68,740 m kub.parabola
n=8,41·V Lk=Ld=70,000 m kub.parabola
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n=9,44·V Lk=Ld=71,000 m kub.parabola
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n=7,50·V Lk=Ld=77,400 m kub.parabola
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R=398 m

V=85 km/h; D=92 mm; I=
123 mm

α=63,096178° Li
=382,238 m

n=10,41·V Lk=Ld=46,000 m mezilehlá kub.parabola

n=8,45·V Lk=Ld=66,068 m kub.parabola

R=345 m
V=80 km/h; D=110 mm; I=109 mm

α=77,618298° Li=389,308 m

n=8,97·V Lk=Ld=79,000 m kub.parabola

n=8,74·V Lk=Ld=76,992 m kub.parabola

R=350 m
V=85 km/h; D=129 mm; I=115 mm

α=66,645028° Li=330,152 m
n=6,97·V Lk=Ld=76,395 m kub.parabola
n=7,06·V Lk=Ld=77,400 m kub.parabola

R=480 m

V=85 km/h; D=94 mm; I=84 mm

α=22,900936° Li=120,829 m

n=8,89·V Lk=Ld=71,000 m kub.parabola

R=500 mV=85 km/h; D=90 mm; I=81 mm
α=44,466921° Li=320,026 m

n=8,89·V Lk=Ld=68,000 m kub.parabola

n=8,89·V Lk=Ld=68,000 m kub.parabola

n=8,89·V Lk=Ld=71,000 m kub.parabola

R=360 m

V=85 km/h; D=125 mm; I=112 mm

α=21,800847° Li=61,925 m

n=7,06·V Lk=Ld=75,000 m kub.parabola

n=7,06·V Lk=Ld=75,000 m kub.parabola

R=331 m

V=80 km/h; D=118 mm; I=111 mm

α=37,065985° Li=145,714 m

n=7,20·V Lk=Ld=68,000 m kub.parabola

n=7,28·V Lk=Ld=68,740 m kub.parabola

R=295 mV=80 km/h; D=133 mm; I=123 mmα=78,392010° Li=326,768 mn=7,29·V Lk=Ld=77,529 m kub.parabolan=7,14·V Lk=Ld=76,000 m kub.parabola

R=280 m

V=75 km/h; D=134 mm; I=104 mm

α=73,733675° Li=279,219 m

n=8,06·V Lk=Ld=81,000 m kub.parabola

n=8,06·V Lk=Ld=81,000 m kub.parabola
R=290 mV=80 km/h; D=135 mm; I=126 mm

α=56,118984° Li=199,928 m
n=7,78·V Lk=Ld=84,000 m kub.parabola

n=7,78·V Lk=Ld=84,000 m kub.parabola

R=350 m

V=85 km/h; D=126 mm; I=118 mm

α=17,496589° Li=24,806 m

n=7,66·V Lk=Ld=82,000 m kub.parabola

n=7,66·V Lk=Ld=82,000 m kub.parabola
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R=360 m

V=80 km/h; D=132 mm; I=78 mm

α=23,054715° Li=52,758 m

n=8,71·V Lk=Ld=92,000 m kub.parabola

R=300 m

V=75 km/h; D=150 mm; I=72 mm

α=41,041874° Li=97,606 m

n=10,40·V Lk=Ld=117,000 m kub.parabola

R=298 m

V=70 km/h; D=132 mm; I=63 mm

α=75,602274° Li=313,119 m

n=8,66·V Lk=Ld=80,000 m kub.parabola

R=295 m

V=70 km/h; D=133 mm; I=64 mm

α=89,993072° Li=387,266 m

n=8,16·V Lk=Ld=76,000 m kub.parabola

R=575 m
V=60 km/h; D=50 mm; I=24 mm

α=6,674731° Li=41,984 m

n=8,33·V Lk=Ld=25,000 m kub.parabola

R=550 m
V=60 km/h; D=52 mm; I=26 mm

α=6,968917° Li=36,895 m

n=9,62·V Lk=Ld=30,000 m kub.parabola

R=394 m

V=80 km/h; D
=130 m

m; I=
62 m

m

α=55,155775° Li
=289,206 m

n=8,65·V Lk
=Ld=90,000 m

 kub.parabola

R=393 m

V=80 km/h; D
=130 m

m; I=
63 m

m
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